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O®OEMA B
ApOpog | Toyvo- | Xyetwkny | AGporoTikn | ABporoTikn | X, -V, (; _x )2 v (; _x )2
Prpriov x; | THTA V; | cuyvoTNTO GYETIKN ovYvoTNTO ' '
;% ovvoTNTO N;
F;%
0 5 10 105 5 0// 25 125
2 10 20 /30 15 20 | 9 90
4 5 10 140 /20 20 1 5
6 15 30 70— 35 90 1 15
8 15 30 R 50 120 [ 95 135
YYNOAA | 50 100 250 370
Bl. f{%=F%-F%=

B4.

Vs

szzﬂ_ﬂ_m;

50

15
0,3

>

100

netafAnTic x4. Apa 8 = 6—;6 =0.
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250+50-2 350
50 50

B5. x'= 7.

OEMAT
I'l. And toug TEPOPIGHOVG TOV KALOWMV TIfS

— 2 —
r2.  limf(x)=lim = 0%"8 _

x—2" x=2" D \Ix+2 Y

X1=2 Kou X,=4.

j— 2 — _ _ _
lim f(x) = lim —xT46x -8 . H(x-2)(x-4)(2+VXF2)
o2 x> 2 —x+2

¢ Jx+2)2+x%2)
- —(x—2><x—4><m Wx+2) o —(x—z)o%c& +2) _

x2" 4—-(x+2) x2" 4—-x-
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OEMA A
Al.  And Oeopnpo Fermat &yovpe 6t £'(1)=0

(oc+lnx)'-x2 —(oc+lnx)-(x)'

2
X

f'(x)=

_l-a-Inx

2
X

f'H=0=1-a-Inl=01
I-1-Inx

2
X

A2, f(x)=0c

—Inx
XZ

fi(x) >0 <

0). Apa amtd Tov OpIopod
I+Inl

s fx)<1.

:e-l—l-O—J.ldx=e—(e—1)=e—e+1=1r.u.
1
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